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1. TOgT UR™T 1 & U o9, 37T 3H U0 Yieeht it Ugdriel 31ava oY o e gad s famm
BUT, Tel AT TeT E3TM TS ST U9 3NE 7 &Nl Afd TET & ar 3H WEr Uieion giaent § a&at
it

2. I-UASE B WET T U GHETUT GRaeht 3TsRA A, B, C 31 D Ieiierfa we ®9 | feeg S|

3. 79 Ufd % 1 ¥ &3 T RIS § YR SO SHAI foae €1 wiern g W 3R % 7 fod

4. 3@ wer gfcsht ® 100 g9 (e) f&F T ) g weAre et ofit ot ¥ sW B yed geAw
H 9N g (IW) @ M R T W T T
F A o, S A9 IW-=F W AfeRa wE =med
F1 9 aueR! TE o foF U 9 stfue g wE
g @ 3H IR HI Afhd HX S AR FAE T TAF WA % e had Tk & IR T E

5. SMUh! IO W YRR oten ¥ R U Sw-we W OE sifhd & € Sw-w § Rk fadw
3@ ol

6. |f yeAl % 3w wEH B

7. 399 Ted foh o9 we gieer & fafa= gl & T SW-TFe W SAfhd R YR Y, e
WAl THO-TS % WY U SRSl % SUR h® faeRer Sw-we | < 2

8. 39 3T il YU &l ST-TAH § WA & dK 91 T & FHOH W Had Sa-TA TEEh hl
i | STkl SO W1 THe0 YRRl of STH T AR 2

9. = ®M & ¥ & TF e YRewt & Fd § o

10. T ST & @ €%

TS Yy W SEiEaR g fed U ew s & fo g3 famr wmom

(i) 9% Yo & ford wR Sfersd SW 21 SHASAR g yE WA & fod i@ T U e S % fod
i 7q fod fo6a U siet o1 ueh-Taets < & &9 H wrer smom

(i) % *iE IH<aR T @ sifeeh I @l €, @ W Terd IO 9 S, = 5 T sw 9@ uh S
e 7, 39 Y9 & o SwdFaERr & < fear s

(iii) % SR g *IE Y 8 &l foman Sar € ereifq SEitar g SwR e o < €, A S| ue &
o g g =t fean smom

T Tk T TE UIILUT YRAHT T il T gl ST ad a7 @it




1. T &1 fawe goft %1 < (SCS) @ - @

wafaa f=fafad s W faer s

1. B & o foaer sfee 3 faer =i fagiv gof
1 TSl (SCS) T T AT 3 gL Th Td
i fepan 21

2. SCS &aal sifesh e 1 WHA H
ot T & faht o erEa & ol & gn
frefftq we enffertor 21

3. HfguM SCS & ford & yraum =& & 2|

Stfe H 9§ o we wet #72

(a) Had TH (b) HaA T

(c) =t = (d) =18 off T

. fr=fafaa womi W faar wifs3:

1. qEH T S SR S A A
frafe 9og & g7 # S R

2. A=A 9@ T Hi Hhad G6E g TR 9
T S Hehel B

ST weAl W W BA-A/H T 2/R?

(a) Fad 1

(b) Had 2

(c) 1 3R 2 <

(d T 1 AT 2

. AmReRar sIfuftEm, 1955 &1 o 6A & wad |

frAfafea wol | faar wifsa:

1. 9 6A % N 39, HueE, US| qen
g & fod faew grawm fran @ 2

2. UW 6A 25 T, 1955 91 9Rd H Wa¥
F T AR AN HT YA AT STER
EEGil

ST el § 9 HA-A/E TE 2R

(a) Had 1

(b) Faad 2

(¢) 1 32 =H

(d T 1 RTE 2

. 9Rd ¥ IeAhH e % aR o frefafed o 9

HIA-H1 HU T 2

(a) STANRTI & YR R I8 foxd 1 300 9"
g I 2

(b) @€ FDI 3idqeie & wHel § = Hod =gl
&

(c) Hfd SIPREIE ST AN il shi 3TEd HITGHh
Tud O 2023 H 17.36 GB & TE|

(d) ST |t

1. Consider the following statements regarding

granting of Special Category Status (SCS) to states:

1. Recently the Bihar Cabinet has passed a
resolution demanding granting of Special
Category Status (SCS) to Bihar.

2. SCS is only a classification prescribed by the
Center to aid the development of states facing
geographical disadvantages.

3. The Constitution does not make any provision
for SCS.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

. Consider the following statements:

1. The Chief Election Commissioner and other
Election Commissioners are appointed by the
Parliament.

2. The Chief Election Commissioner can be
removed from office only by Parliament.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both 1and?2

(d) Neither 1 nor 2

. Consider the following statements with reference

to Section 6A of the Citizenship Act, 1955:

1. Special provision has been made for Assam,
Meghalaya, Mizoram and Tripura through
Section 6A.

2. Section 6A makes it mandatory to trace
outsiders who entered India after March 25,
1955.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

. Which of'the following statements is correct about

the telecom sector in India?

(a) It is the second largest industry in the world
on the basis of users.

(b) It is the fourth largest sector in terms of FDI
inflows.

(c) Average monthly consumption per wireless
data user increased to 17.36 GB in March
2023.

(d) All of the above
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5. yEnTeTen ® ffHa €1 % gedf o frefated wmemt

R foEr Sifsa:

1. 3o fed ®9 9 Wikfds €R & WEH
T, ek qen difdew o1 wd frea
e Bl 2

2. & € AR TR WAl S R

ST FoA 9 HHA-TUA TE B2

(a) o 1 (b) e 2

(c) 1 3R 2 <Hf (d) a1 SRAE2

6. RBI & 70 weigdt el & §ed # faefafaa

Tl W =R Fifs:

1. H57 9o ® HiY 3R -0 sfgewi & fer
Tt HoIgd U S W R R

2. ® H U0 Y megh gl stfuw @
St 21

3. 9Rd H Hfu il w1 U ed 9
gfafeT 345.7 UC B

St H § o e wet ®72

(a) HIA TH (b) woA I

(c) |t = (d) =18 o T

7. qE fagfd ST |8 (I0SCO) & R |

frefafad § 9§ SF-91 woH Fe Tl 82

(a) TEHI TG 30 1983 W &1 TE off)

(b) 10SCO fawa & 95% & siferer wfayfa s
%! Hel Hl 2

(c) 10SCO =1 ufyrn dfafess o epral,
TR § feord 2

(d) T' G20 e ¥R foxia feerar <€ (FSB)
% @Y et s S 2

8. wmufaer Ffy wor wfafaai & g=d o fr=fafea

FeAl W fo=R Fifee:

1. 3 - 9e&i R0 9= § Ao weEr
% ®9 4 w1 HE 2

2. 3 frEd A et @ ford i
FU1 YT w4l L

S el § W BA-E/H T 22

(a) ®ad 1 (b) HaA 2

(¢) 1 3 2 =H (d Fa 1 RTE2

9. BT B-

(a) N g @IS T fehedq gHehq

(b) NTIE o1 URGNE STfEere Jed

(c) URTd HEMMR § WSl T T Jard g

(d) TF T SRR

5. Consider the following statements with reference
to laboratory-grown Diamonds:

1. It has essentially the same chemical, optical
and physical properties or crystal structure as
natural Diamond.

2. These Diamonds are considered eco-friendly.
Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2

6. Consider the following statements with reference
to RBI's rural wage data:

1. Rural wages for agricultural and non-
agricultural workers in Madhya Pradesh are
lower than the national average.

2. Rural agricultural labor is paid the highest in
Kerala.

3. The national average wage of agricultural
workers in India is Rs 345.7 per day.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
7. Which of the following statements is not correct
about the International Organization for Securities
Commission (IOSCO)?
(a) It was established in April 1983.
(b) I0SCO covers more than 95% of the world's
securities markets.
(c) IOSCO's Asia Pacific Hub is located in
Jakarta, Indonesia.
(d) It works closely with the G20 group and the
Financial Stability Board (FSB).
8. Consider the following statements with reference
to Primary Agricultural Credit Societies:

1. These act as the last link in the three-tier co-
operative credit structure.

2. They provide agricultural loans to farmers for
long term.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and2

9. Hanukkah is-
(a) Nearest comet discovered by NASA

(b) Nagaland traditional tribal dance
(c) Coral island discovered in the Pacific Ocean
(d) A jewish festival
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10.

11.

12.

13.

14.

o fagia & gy o frefafead el ® faar

i

1. =9 fagia &1 gfqus a9 1996 § 1997 &
A foFa T e

2. 39 fogid & ST79R 9Rd Hi 319+ TSt <9
% Wt fovaaa ey 9 H w1 geE o
T e

ST For H§ 4 HHA-UA TE B2

(a) ®ad 1 (b) Had 2

(c) 1 3 2 g (d) Td 1 ST 2

e Afw-anfeess fosma wie@ 2023 @

Hafua frefafed weml w foem Fifse:

1. THT EeH efedst, fheie § far T
ol

2. NB8 ® o Afésw <@~ SRR, 4 @R
ETee g1 5 Sifeesh 8- wied, fhde,
TR, onefaan iR fagsnfan wfga )

3. 39 Hi<ed &1 &I 39 9Rd S NB8 <91
% g @i a1 &1 frafa s enfhe em

Swfe w9 9 wE-9 WE T 872

(a) e 1 3R 2 (b) et 2 3R 3

(c) ael 1 3R 3 @ 1,2 3R 3

frefafad § 9 wF-o1 <9 e € § =H & doe

Tg e shfemufed A @ AR @ w22

(a) &5 (b)

(c) T (d) st

S qhe & Gy d ffafad el W

fo=r wifsE:

1. 7% U THafes tifen 2, St qua oin sifea
gt ¥ W FH & A AL FITEm
Il 2l

2. St Sfed Tea@Rgd Heds A
Tehiteh T STANT i &T S 2

U el W W wA-G/H T 22

(a) ®ad 1 (b) HaA 2

(c) 1 &R 2 g (d) a1 ST 2

I9 F3SR ¥ Gafud Freafafed woAi W fa=m

HIfe:

. ¥E Gk 3R g & ot " T %Y 95H
LT B

2. I TEW IRI HEHST Aol YT HE
% ol Th FUEer % ®9 H HH @ 2

3. WUgH 99 SR 1 Th TH@ ST 2

10.

I1.

12.

13.

14.

Consider the following statements in the context
of Gujral principle:

1. This principle was propounded during the year
1996 to 1997.

2. According to this principle, India was
suggested to build reliable relations with its
neighboring countries.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements regarding India
Nordic-Baltic Business Conclave 2023:

1. It was held in Helsinki, Finland.

2. The NBS includes three Nordic countries
— Denmark, Norway and Iceland with five
Baltic countries — Sweden, Finland, Estonia,
Latvia and Lithuania.

3. The main objective of this conclave included
export of mineral oil by NB8 countries to
India.

Which of the above statements are not correct?
(a) 1and?2 only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and 3

Which of the following countries has recently
dropped out of China's Belt and Road Initiative

plan?
(a) Russia (b) Iran
(c) Pakistan (d) Italy

Consider the following statements with reference
to deepfake technology:
1. It is a synthetic media that uses Al to
manipulate visual and audio content.
2. Deepfakes are created using a technology
called Generative Adversarial Networks.
Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements regarding web
browser:
1. It provides an interface between server and
client.
2. It works as a compiler to render HyperText
Markup Language.
3. Facebook is a prominent example of a web

browser.
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IwfE w9 9 SE-FUA TE 22

(a) e 1 3R 2

(b) FadA 2

(c) ®aa 3

(d 1,2 33

15. Fse Hifen & §eyd ¥ fr=fafad wea w faur

EAISPE

1. I8 M o FH & o & gER H
Hres HeNeA qeheten 2l

2. 3@ dfpen H S W uRfyem, 3 wEA
SEATFAES HT YA foHa Sl 2

3. 99 gul <X ufaed e 10% § 30% d

g Sl 2
Swde § 9 fohad e wEl €72
(a) HId TH (b) wad ]
(c) |t @4 (d) ®E off T

16. TE-ge W % Hed o, fefatea wee W
fo=m wifsE:

1. I8 9erer | gt Gehivl, Sfased § e
fremeor 1w fofa 2

2. B & H fenraa &1 faewrmd g & it
T4 41 gyt o feen & o3 zm fafy
1 g4 femar mEm

ITE oAl § 9 HA-T/A T 22

(a) ®aa 1

(b) Had 2

(c) 1 &R 2 i

(d Fd 1 SRA 2

17. COP-28 & §ed ¥ fr=fafed wedl W fa=r

FHife:

1. U9 §SE 9 % g o TS SHS HS i
Felferd & & fod T E9Eie W e
foan T

2. T Wihedh TR 1 5d1 &R COP28
o o/ fean mn, fo@ fa feed smufa &
SO T

3. fowmeria 2w & g fowfaa <=0 9 3=
FHEA IS BITTA HE HT @M foma

Which of the above statement(s) is/are correct?
(a) 1and?2 only
(b) 2only
(c) 3only
(d) 1,2and3
15. Consider the following statements with reference
to cloud seeding:
1. This is a type of weather modification
technique to cause artificial rainfall.

2. In this process silver or potassium, solid
carbon dioxide is used.
3. Due to this the rainfall rate increases by about
10% to 30% every year.
How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

16. With reference to Rat-hole mining, consider the
following statements:

1. This is a narrow, horizontal method of coal
extraction prevalent in Meghalaya.

2. Recently, this method was used to rescue 41
workers trapped inside the Silkyari Tunnel of
Himachal.

Which of the above statement(s) is/are correct?
(a) 1 only
(b) 2only
(c) Both 1 and?2
(d) Neither 1 nor 2

17. Consider the following statements with reference
to COP-28:

1. An agreement was signed by the member
countries to operate the Loss and Damage
Fund.

2. The 5th edition of the Global Stocktake text
was released at COP28, which was adopted
without any objection.

3. Developing countries called on developed

countries to achieve zero carbon emissions.

BRI
SWE wHoAl B 9 PHE-TU/Y T8 22 Which of the above statement(s) is/are correct?
(a) o | R 2 (b) o 2 (a) 1and?2 only (b) 2 only
(c) Waed 1 3R 3 @ 1,2 3R 3 (¢) land3 only (d) 1,2and3
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18.

19.

20.

21.

ARG H A F Y9 o aR ¥ foRd O gTiern

s W gty fmfafed wel w faear

e

1. 9%d ® froeh v ¥ sAafusw W &t
AU & €9 9 A 9%d H uH fafore
Aqiifersr & o *fgd @ 2

2. I AT TeA™ Y Ue W Eds gn
EEAINGRER IR

ST oAl ¥ 9 HA-T/E T 22

(a) Had 1 (b) HaA 2

(c) 1 3R 2 < (d) Fd 1 SRAE2

AR TG hl YIfrd I aTe] THRehl § Helfod

frfafea wol ® faar wifa:

1. 9G¥ " 91g & 3afd ¥ fene TR
TIE HRF 2

2. UR UEEAS 9T i WISl &l I & o
ol DA &9 B B9 H HE B

ST wodl § 9 HA-T/A T 22

(a) Had 1 (b) HaA 2

(c) 1 3R 2 <Hf (d) Fd 1 SRAE2

IR § wEen fomor & Hed o frafafaa o

HIA-| HU & T 22

(a) TGS hIFel 9Rd W el WS T 98% 3TN
HEAA H IARA HT 99% T 2

(b) TEAM HIFA 9RA & UIGHH TS & hidal
w1 Frefor st 2

(c) YRa W Wew oifues TYHES FFen U
S R

(d) faefrma wiFen a9 Afus swEe, 9iv=m
e SR Sfew o R S 2

WHYH wE & fad wHiga foen =

yuelt e & Ted ¥ fAfafed womi ) faur

Hifer:

1. 7 RO welt B & i iR ghese
R, @hal o el wt gEen ek &6
SR UG A 2

2. 9% 99 2012-13 § foenm #Aem@ g@ y®
fhan T UDISE @1 Ush 37IAA dul 3=1d
TR 2

18.

19.

20.

21.

Consider the following statements regarding a
recent study conducted about monsoon trends in
India:

1. Extreme rainfall events in India over the past
century have been concentrated in a specific
geographical region, mainly in central India.

2. This study was published by Advanced Earth
and Space Sciences.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(¢) Both 1 and?2
Consider the following statements regarding the
factors affecting Indian monsoon:
1. The Himalayas are a major factor in the origin
of monsoon winds in India.
2. The Thar Desert serves as a rain shadow area
for the Bay of Bengal branch.
Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only

(c) Both 1 and 2

Which of the following statements is not correct

regarding coal distribution in India?

(a) Gondwana coal accounts for 98% of total
reserves and 99% of coal production in India.

(b) Gondwana Coal produces metallurgical grade

coal of India.

(c) Most of the anthracite coal is found in India.

(d) Bituminous coal is most commonly found in

Jharkhand, West Bengal and Odisha.

With reference to the Integrated District Information

System Report for Education Plus, consider the

following statements:

1. Thisreport provides information on enrollment
and dropout rates of school students, number
of teachers in schools, etc.

2. It is an updated and improved version of
UDISE launched by the Ministry of Education
in the year 2012-13.

?q—igﬁ Fo § T BHE-TU/Y I 27 Which of the above statement(s) is/are correct?
(a) o 1 (b) et 2 (@) 1only (b) 2 only
(¢) 1 22 =H (@ Fa 1 ARTE2 (c) Both 1 and 2 (d) Neither 1 nor 2
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22.

23.

24.

25.

26.

foretferfian g W fomm i
(wfgear wonee) (9T )
1. 774 dfaum oA - R § TR
sfyfam
2. 81di Hfgu WeleA - IRV Had

sifyfrem Ry Ffeal o
3. 10397 Hfaem — affr ®9 |
Temed stfufey FAAR a h
for 10% TReToT
Swfm A 9 fohad g ol gafer ©2
(a) Had TH (b) HaA T
(c) |t @4 (d) & o 7

arRa o e &t feufa & d@eof o, fafafea

HYM | fa=r wifsa:

1. 9Ra = 99 2002 ¥ e eHl & sfieai ™
g g STFaEHa &1 gfe il

2. fava o & ITER 9RA H 5-8% A
feeatman =1 fR 21

ST wodl § 9 HA-T/A T 22

(a) Had 1 (b) HaA 2

(c) 1 3R 2 < (d) Ta 1 A2

frfafea et w foer it

1. 9E TRW 2. 7 e

3. T F

Iude Ao e § 9 fred gefud 22

(a) STCUHETH HEAT

(b) Tuser =t weam |

(c) T weamn 9

(d) ergfea sifa iR SHeifa e o

qRd § AFE q&hd 1 feofa & dedf o fefafea

HoAl W fo=m wifsE:

l. 9Rd &1 ¥f9yE AFg a&Rd W gfaay
o B

2. NCRB # 3ffgl % @R a9 2022 H 2300
THa q&Rd difedl w1 9g=H ®i TR

SwE w9 9 SE-FUA TE 22

(a) Had 1 (b) HaA 2

(c) 1 3R 2 <A (d) Td 1 T2

TR e gfEeE @ Hefuq frefafaa swet

T foar Sifsa:

1. QAR e el G T ST T S 2

2. 39 URANH ® H% TWHR 5 A Y&H
1 TE B

22.

23.

24.

25.

26.

Consider the following pairs:
(Constitution Amendment)
1. 77th Constitutional -

(Provisions)
Reservation in

Amendment Act promotion
2. 8lst Constitutional - Reservation only in
Amendment Act initial appointments
3. 103rd Constitution - 10% reservation
Amendment Act for economically

weaker sections
How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) All three (d) None
With reference to the situation of disability in India,
consider the following statements:

1. India ratified the United Nations Convention
on the Rights of Persons with Disabilities in
2002.

2. According to the World Bank, 5-8% of India's
population is disabled.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following plans:

1. Padho Pardesh 2. Nayi Roshni

3. Naya Savera
The above mentioned schemes are related to which
of the following?
(a) Minority welfare
(b) Backward class welfare
(c) Disabled Welfare
(d) Scheduled Caste and Tribe Welfare
Consider the following statements with reference
to the situation of human trafficking in India:

1. The Constitution of India prohibits human
trafficking.

2. According to NCRB data, 2300 human
trafficking victims were identified in the year
2022.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither I nor 2
Consider the following statements regarding
Punaura Dham project:

1. Punaura Dham is considered to be the
birthplace of Goddess Sita.

2. This project has been approved by the Central
Government.
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27.

28.

29.

3. AR um faer & fufen &= o fem 2

S § @ fohad weH Tl ©2
(a) HId TH (b) ®ad |
(c) |t (d) ®FE «ft 7

faforen & fr=fafea iepfos wwest | faur

Hife:

1. fafen =1 fivga stean fregfed & wm 3 o
ST ST @

2. T A st oFE St % for g
2 @1 GI o7 W 2

3. 39 W for=sfa =91 1 wmEq o

Iwde weAl § 9 wH-E/d wEl T 8e?

(a) waa 1 (b) et 2 3R 3

(c) a1 3R 3 d 1,2 3R 3

e Gl & H3 ¥ Ffafed weA ) faEr

EAISDE

1. 3 fafesr dueem o & wer w0 fafia
FT TH IR T QO qfdar #)

2. 3 gfdar &t wen v wmfda, wee Arepfas
AR e Hew &1 wdie 2

ST oAl § 9 HA-T/A T 22

(a) Faa | (b) HaA 2

(c) 1 3R 2 <Hf (d) T 1 A2

frAfafea wul | faar wifa:

1. TE g A @ o & YEea & a0 T
THH < A TH TG Y Hi

2. % TR A AR H ol "fw w1 i
& @, 9 e suneEg fag 4 9
FHEMET |

3. T Tifag g 4 Ugd AWE U GRRR H
& o em

27.

28.

29.

3. Punaura Dham is situated in the Mithila region
of Bihar.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following cultural aspects of Mithila:

1. Mithila is also known as Tirhut or Tirabhukti.

2. The paintings here are famous for their unique
style and have received the GI tag.

3. It was ruled by the Lichchavi dynasty.
Which of the above statement(s) is/are not correct?
(a) 1 only (b) 2 and 3 only
(¢) 1and 3 only (d) 1,2and 3
Consider the following statements with reference
to the Parthenon statues:

1. These are one thousand year old statues of
Greece made of stone kept in the British
Museum.

2. These statues are dedicated to the goddess
Athena, the Parthenon is a symbol of cultural
and historical importance.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements:

1. Guru Angad started the Sikh religion and Guru
Nanak Dev strengthened it.

2. Guru Ramdas started the construction of
the Golden Temple in Amritsar, which was
completed by Guru Hargobind Singh.

3. Guru Gobind Singh started a new rite called
Pahul.

How many of the above statements are correct?

Swde § 9 fohad e wEl €72 (a) Only one (b) Only two
(a) HIA TH (b) HaA (c) All three (d) None
¢) | I d) g ot &l 30. Consider the following pairs:
(c) (d) gp
30. Frefafaa g ® faem it (Tribal Rebellion) (Leader)
( anfeamt fagie (Far) 1. Ahom — Gomdhar Konwar
1. =M™ - TMHER HiaT 2. Khond — Buddho Bhagat
2. @i - TG I 3. Coal — Chakra Bisoi
3. & - = forarg 4. Gond — Raja Jagannath
4. e - NSRS How many of the above pairs are correctly
Sww | 9 foha g el gafed ©2 matched?
(a) Had Th (b) Haa & (a) Only one (b) Only two
(c) Faa o (d) Tt IR (¢) Only three (d) All four
S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
Tt qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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31.

32.

33.

34.

35.

1930 3R 1940 & <9 ¥ 9RA T el s
TS ekt 3R Hey |ifeqay frefatead o 9
fore 391 9 weifia 872

(a) T (b) STHH

() wett (d) Teregenfn

Taed R o sramm & Oed ¥ frfafea

HYM R fa=r wifsa:

1. 38 9Rd & YIERY UF o9 HAWGHE & gN
COP28 H di== fean T

2. 3E% ded fava & 11 39 & 275 -3l
1 FHer fman S|

IfE w9 9 SE-FUA g1 27

(a) dad 1

(b) Faad 2

(c) 1 &R 2 g

(d A1 AT 2

e TR T BRS & ded # freafafaa wem

R fa=r wifsa:

1. 3 9gded ¥ I BF 9§ U8d IeEs
% Hid W HET SEAFES T T HT
Thd B

2. A el S Seld SEMEE " CO2 i o
IR T Hl 2

ST weAl § W HA-A/A T 2R

(a) ®aa 1 (b) Had 2

(c) 1 &R 2 i (d) Td 1 ST 2

Tl Whie e ol W Gatea fefafed e

R faEr Hifsa:

1. 98 Y% A HIFel STNG e TS
1 TEEH H 2

2. 39 Tollgd TS A g faswfaa fwen
T R

3. 3@ ad & ofq ° oryfd feger o anfie w9
¥ arqge fapan s 2

ST § @ fohad weH Tl ©?
(a) HId TH (b) ®ad |
(c) |t (d) ®FE ot 7

IRd 1 g1 & Hd o Frefafad § @ wE-@
T HoH Tl 87

(a) I 36.5% T W MERA 1 wHl 2
(b) RA T TAHT 12.8% T H TSieh w1 HH 2
(c) IS 1 S 7.10% T&1 1 GIfard et 2
(d) Swda o ¥ +Ig T

31.

32.

33.

34.

35.

Antanas Poska and Matus Salcius, travelers who
visited India in the 1930s and 1940s, belonged to
which of the following countries?
(b) Denmark
(d) Lithuania
Consider the following statements with reference
to Global River Cities Alliance:

1. It was launched at COP28 by the Ministry of

Environment and Forests of India.

(a) Spain
(c) Italy

2. Under this, 275 river cities of 11 countries of
the world will be covered.

Which of the above statement(s) is/are correct?
(a) 1 only

(b) 2only

(c) Both 1 and2

(d) Neither 1 nor 2

Consider the following statements with reference
to carbon capture and storage:

1. These can capture carbon dioxide at the source
of emissions before it is released into the
atmosphere.

2. They capture and store CO2 from burning
biomass such as wood.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements regarding
Global Coal Plant Tracker:

1. Itidentifies every known coal-based generating
unit.

2. It has been developed by Global Energy
Monitor.

3. It is updated annually at the end of the year
i.e. in December.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Which one of the following statements is correct

regarding the soil of India?

(a) About 36.5% of the soil is iron deficient.

(b) About 12.8% of India's soil is zinc deficient.

(¢) Manganese deficiency affects 7.10% of the
soil.

(d) None of the above

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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36. JURY YA W Hefud fFefafead weml ) faear
Hifer:
1. 78 fiq & U ame wifael & faers
IR fRam g foan T gemE o
2. T HAWR W Tl TeIg JEIR TR Mt 9
I 9
3. =uRor Ffy rfufem 1917 & g/ fwamt &t
fowre fromi @ gaa 2 fean mm
ST woAl ¥ 9 HA-T/E FE T 282
(a) o 1 3R 2 (b) Heet 2
(c) ®ad 3 (d) 1,2 3R 3
37. ARG QA e (AS]) & G H frAfated
i 9 $HH-9 HUT T 22
(a) TE HEHfd WA & e HrE Ha B
(b) TE 3650 ¥ eI Wrei TARRT IR qeifterh
YT H YT F 2
(c) TR TU 1861 3 H =i ME off|
(d) ST @t
38. WRA & THE & Ufand & Wed § ffaftaa
ol W fo=m #ifSa:
1. ARG % T 95% IR HHE & HIEAq |
B B
2. RA 3TYT SATIRTI el SATAIHHAT T ST
TS &5 W L 2
SufE el W W wE-"/A w27
(a) e 1 (b) Feet 2
(c) 1 3R 2 g (d) Td 1 T2
39. amyelt 3UAR ¥ Hafyd frefafed wum w) famr
Hiferr:
1. I8 Hifde] qle | "yl §Hse Ta
TSiifder qfad 1 oehTeld il 2|
2. TR HAGE % STIER M h 5 T 42
o seg gt 21
3. DUEIE, FRES, fesm qul faer T
amYell SUEE ¥ Wad S e geiferd

Iude oAl W W SHE-a/d w1 RR?
(a) o 1 (b) Faa 2
(c) Weed 1 3R 3 (@ 1,2 3R 3

40. frfafad wut | faar Fifs:
1. 3938 311(2) ToF =i & & fod @aq
BN W fofaet Soehi @ Sif" % 915 g2y wiH
1 Y I 2
2. T B W IW WD WHR A HOuH &
3T=3% 311(2)(c) % 8d IR HHANAT i

36. Consider the following statements regarding
Champaran Satyagraha:

1. It was a Satyagraha carried out by Indian
farmers against the European indigo plantation
owners.

2. Dr. Rajendra Prasad was associated with
Mahatma Gandbhi in this Satyagraha.

3. Farmers were freed from special rules by the
Champaran Agriculture Act 1917.

Which of the above statement(s) is/are not correct?
(a) 1and?2 only (b) 2 only
(c) 3only (d) 1,2and 3

37. Which of the following statements is correct with
reference to the Archaeological Survey of India
(ASI)?
(a) It works under the Ministry of Culture.
(b) Itmanages more than 3650 ancient monuments

and archaeological remains.

(c) It was established in 1861 AD.
(d) All of the above

38. Consider the following statements with reference
to India's maritime security paradigm:

1. About 95% of India's trade happens through
sea.

2. India imports most of its energy requirements
from the maritime sector.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2

39. Consider the following statements regarding Left
Wing Extremism:

1. It advocates significant social and political
change in a revolutionary manner.

2. According to the Home Ministry, 42 districts
of 5 states of the country are affected by this.

3. The states of Chhattisgarh, Jharkhand, Odisha
and Bihar are most affected by Left Wing
Extremism.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(¢) 1and 3 only (d) 1,2and 3

40. Consider the following statements:

1. Article 311(2) provides for the removal of
civil servants after investigation if there is a
threat to the security of the state.

2. Recently, the Uttar Pradesh government has
fired four employees under Article 311(2)(c)

Fwh @ frrra oo =1 of the Constitution.
S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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41.

42.

43.

44,

45.

SuE el W W SE-"/A w27
(a) dad 1 (b) HaA 2
(c) 1 3R 2 g (d) a1 A2
CERT-In # e ¥ frAfafad el W fo=r
Hiferd:
1. Te AT SR FRRIT S wEeR qRen ai
Y fues & fod Frea woiE 2l
2. THHI FMH RTI SAfuf=m, 2005 & =R
Y ol 2
3. Ie fafy weer & oefiv w5 2
ST ¥ @ fRa wer el 22
(a) HoaA TH (b) HaA T
(c) |t = (d) =18 o T
IR 99 Td @Sl YHNE ANl & SR OH
frefafad § 9 $H-9 S99 T& T2 272
(a) T ASH HT IFAA AU T SN HATA
% R H TEI
(b) TE Al e qard qe FHUNRTO FeH
H B
(c) YR o Yaee HEIH, AT 38 Fde
TS & ®Y H S T
(d) Sugw it
frfafea ¥ @ fF8 G20 frer gem o fiee
FAH I UMY UM i TE?
(a) TAWAT IR
(b) AT FaeRTRT
(c) TSI T
(d) TFmdr FE
YA e R eEayE & Hed o
frafafed wel W fomr #ifsa:
1. € SUEHESE o & fewrs gauE 3R
T 1 SgEl Il B
2. IH% G fava & T 50% S T FeeA
FE & o R 7
3. THH O SOE &% Aeher § e 2

SwE weAl W W wE-"/A T 27
(a) Fad 1 R 2 (b) Faa 2
(c) ol 1 3R 3 (d) 1,2 33

FEF TeHRTg FHYE & 93 § F=fafaa

FHeAl R faar Hifsa:

1. I€ U S @E qHw R 2l

2. TEH! TG 96 1975 § T T @ SR
FH TS & F H TE off|

3. 2@ ¥ H 9Rd H1 39 Gfufd § ReE aw

41.

42.

43.

44,

45.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2
Consider the following statements with reference
to CERT-In:
1. It is the nodal agency to deal with cyber
security threats like hacking and phishing.
2. Its functioning is beyond the scope of the RTI
Act, 2005.
3. It functions under the Ministry of Law.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
Which of the following statements is not correct
about the Indian Forest and Wood Certification
Scheme?
(a) This scheme was launched by the Ministry of
Commerce and Industry.
(b) This scheme provides voluntary third party
certification.
(¢) Indian Institute of Forest Management,
Bhopal will act as its operating agency.
(d) All of the above
Who among the following was awarded the title
of Millet Queen at the G20 Summit?
(a) Dayamani Barla
(b) kuni sikaka
(¢) Mandangi Sayamma
(d) Raimati Ghuria
Consider the following statements with reference
to International Tropical Timber Organization:
1. It promotes sustainable management and
conservation of tropical forests!]
2. Its members are responsible for managing
approximately 50% of the world's forests.

3. Its headquarters is located in Yokohama,

Japan.
Which of the above statement(s) is/are correct?
(a) 1and?2 only (b) 2 only
(¢) 1and 3 only (d) 1,2and 3

Consider the following statements with reference
to Codex Alimentarius Commission:
1. It is an international food standards body.
2. It was established in the year 1975 by
the United Nations Food and Agriculture
Organization.

3. Recently India has been selected to represent

&1 gfufafae 1 & fo T T 2 the Asian region in this committee.
S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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46.

47.

48.

49.

S § @ FRad wme T
(a) Had TH (b) ®ad A
(c) |t = (d) & ot 7T
et uee & wed H frfafed oAl w fa=ar
Hiferd:
1. 38 T 959 & ¥eam ¥ y& fean mn 2
2. 98 JEE 3R &/ Seif-miin qdiensti o1 dan
FH A1 B & o 1A F giadn 98H
Tl 2l
ST Fod H§ 9 HHA-TUA TE B2
(a) ®ad 1 (b) ®ad 2
(c) 1 &R 2 g (d) a1 SRAE 2
ST wst e | Hefkd frefatad s
R fa=m wifsa:
1. SHHT TOT a9 1948 H g3 off|
2. 38 e faa o feerd
3. 98 fftn = fatmfmm w6 o) Ses 9
T TEOOT I kA & o REER )
Sufe | 9 o e wet #72
(a) HoaA TH (b) I T
(c) |t o= (d) ®E o T
R2 1 /HfEe-M Heifien oedfiq & &R o fefafaa
ol W fo=m Fifsa:
1. 38 oAfwie gafdd gr fowfaq e
T B
2. 39 I w1 fava W@ wed & go-arm
Ferl w1 g wnfe fomar T #
ST woH § W wH-GUA T /7
(a) ®aa 1 (b) ®ad 2
(c) 1 &R 2 g (d Ta 1 RTE2
DRESS fagm & ded ¥ fr=fafed wemi
foam #ifsa:
1. 39 g-3SE TEW dfafefadt fagm (DIHS)
% ®9 G A SR
2. TSI fo¥od &= W e T, O qEN,
ool g8 fomw dig@ o ol o o
Stfeerand 21

46.

47.

48.

49.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements with reference
to Sathi Portal:

1. It has been started in collaboration with IIT
Madras.

2. It provides study facilities to students
preparing for JEE and other engineering
exams.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2
Consider the following statements regarding
International Maritime Organization:

1. It was established in the year 1948.

2. Its headquarters is located in Vienna.

3. It is responsible for regulating shipping and
preventing marine pollution from ships.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements regarding R21/
Matrix-M malaria vaccine:

1. It has been developed by Oxford University.

2. This vaccine has been included in the list of
pre-qualified vaccines of the World Health
Organization.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2
Consider the following statements with reference
to DRESS syndrome:

1. This is known as Drug-Induced Hyper-
sensitivity Syndrome (DIHS).

2. It is characterized by skin rashes, high fever,
swollen lymph nodes and complications in
internal organs.

SwfE wedl W W wE-"/A T 22 Which of the above statement(s) is/are correct?

(a) ®ad 1 (b) ®ad 2 (a) 1only (b) 2 only

(¢) 1 3 2 =H (d Fa 1 RTE2 (c) Both1and2 (d) Neither 1 nor 2
50. STeTed YT Sefd g 50. The Langlands Program is related to-

(a) afer v 9 (a) Space exploration

(b) TEA TS STemu g (b) Deep sea exploration

(c) Al &1 9 & (c) The language of Al

d) T W 9 (d) Mathematics project

(d) proj
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres

» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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51. anfer faifrn @ wefuq frefafea el
foam wifea:
1. 98 T it TR famm demor 2
2. T & H S U & W A Tg THAY 5
g 15 o8 & w=ai ¥ f@e o
ST For H§ § HHA-TUA TE B2
(a) ®aa 1
(b) Had 2
(¢) 1 @ 2 =H
(d) T 1 A2
52. aNRel & " o frefafaa § 9 sH-9/8 HeE
d /22
. 98 9Rd &1 o9 oo GR-Seifes T g
2. 39 Herld =i R faeed fafaes gro ffda
fopa T 2
3. W€ Sdel Wid 995 § qiee & H 9ed 2
= G T e F YEE R WS S g
(a) Wee 1 (b) wae 2 3R 3
(c) wad 1 3R 3 (d 1,2 3R 3
53. fr=fafaa somi W faar wifs3:
1. i efad ik wiftel swifsarg s i
ESICERIES
2. 9P sHfed JUCN € fae &t Heheu
(EN) 9ot & wfmfaa 2

ST el § W wA-G/H W 22
(a) dad 1 (b) HaA 2
(¢) 1 @2 =H (d) Fd 1 ST 2

54, O I 9 gefyd fEfafed wum w faEr
wifer:
. 78 7 TS TfHS Aeh-Tehfes i
Afehdl & SR Bal 2|
2. =EH Wi gl W © HE H = S 2l
3. 39 W H IER 1 FHiREwE & agdEy §
TegRISH 1 frfor g 2
S | 9 o e wet #72
(a) HIA TH (b) HaaA I
(c) |t @ (d) = ot 7
55. ¥ aRefdsn TUCN (& fae =1 fva goff o
it 272
(a) THR-Hehu
(b) Heheu&
(c) oTgferd
(d) Hehe-Tiehe

51. Consider the following statements regarding
Walking Pneumonia:

1. This is a very serious viral infection.

2. Recently, this infection has appeared in
children aged 5 to 15 years in the countries
of Eastern Europe.

Which of the above statement(s) is/are correct?
(a) 1only
(b) 2 only
(c) Both 1 and?2
(d) Neither 1 nor 2

52. Which of the following statement(s) is/are correct
regarding Barracuda?

1. This is India's fastest solar-electric Boat.

2. It has been built by Mazagon Dock Ship
Builders Limited.

3. It is capable of transportation only in calm
Seas.

Choose the correct answer using the code given
below:
(a) 1 only (b) 2 and 3 only
(c) 1and 3 only (d) 1,2 and 3
53. Consider the following statements:

1. Papio anubis and Papio hamadryas are species
of Baboons.

2. Papio anubis is listed in the Endangered (EN)
category of the [UCN Red List.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2

54. Consider the following statements regarding
Pompe Disease:

1. This disease is caused by excess of the enzyme
acid Alpha-Glucosidase.

2. In this the patient goes into a complete coma.

3. In this disease, glycogen is produced in the
lysosomes of the body cells.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
55. Saiga Barasingha is included in which category of
TUCN Red List?
(a) Critically Endangered
(b) Endangered
(c) Vulnerable
(d) Near Threatened

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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56. Ffafaa g W four *ifse:

(Sha) (IUCN ¥z fere feafa)
1. U aEEd - "k
2. Seft AR - ke Heheuw
3. wrat ueh - g=
S o 9 forad g W gufed €2
(a) HId TH (b) ®ad |
(c) Ot = (d) =18 o T

57. e wAN % wed o frfafaa we W R
EAISDE
1. T STRIH! G 1 T foiien dren 2
2. 9Rd H TaAfiiR serewR od s98 g9
affuesh gnifea gleedie & 2|

ST For H 9 HHA-UA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 g (d) Td 1 A2
58. frefefed & 9 wF-91 SSRRME w1 gag 9iwma

SeTeTE 22

(a) WIS Sa (b) HEe R

(c) TEe faamem (d) ¥ T

50, o e % AR § Frefafed § @ BH-
FUA el T ??
(a) I€ qehleh 9RATT WENfiTh! SeM, 759 &
g forerfa =1 T B
(b) TW U 9 iR U SR STEHl M
& ford fesmrea fman T 21
(c) T WEfrel AT-Twe AERA -
TESIHEE HT TN Hl B
(d) TE TENfTHT et SR T R el Ifgah ol
% T W o S el @
60. 3R fave & d3d ¥ frAfafed weml | faar
EAIERE
1. =9 fed & YEea a9 2016 | SH-HIAR
q g offl
2. 9% G HE H Sl H @ g @
3. THH dqBd HEF TR W A & o™
seM & o e S suftar @t ot

56. Consider the following pairs:

(Spices) (IUCN Red List status)
1. European Bison - Endangered
2. Wild Yak - Near Threatened
3. Kiwi Bird - Vulnerable
How many of the above pairs are correctly
matched?

(a) Only one (b) Only two
(c) All three (d) None
57. Consider the following statements with reference
to Lantana camara:
1. Itis a poisonous plant of African origin.
2. The Nilgiri Biosphere Reserve in India is the
most affected hotspot area.
Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
58. Which of the following is the most active volcano
in Indonesia?

(a) Mount Erebus (b) Mount Tambora
(d) Mount Merapi

59. Which of the following statements is not correct

(c) Mount Sinabung

about Amrit Technology?
(a) This technology has been developed by the
Indian Institute of Technology Madras.
(b) It is designed to remove arsenic metal and
ions from water.
(c) This technology uses nano-scale iron oxy-
hydroxide.
(d) This technology can be used for water
purification only at domestic level.
60. Consider the following statements with reference
to Aroma Mission:
1. This mission was started in the year 2016 from
Jammu and Kashmir.
2. Through this, saffron cultivation was
promoted.
3. Under this, a plan for Aroma Dairy

Entrepreneurship was also made at the central

RISENCEIEIE] level to increase the income of farmers.
ST § @ fhad weH Tl ©2 How many of the above statements are correct?
(a) HaA TH (b) wa (a) Only one (b) Only two
(c) |t @4 (d) & o 7T (c) All three (d) None
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61.

62.

63.

64.

65.

frafafea § @ SF- FHUF Goer Jed & aR

¥ wdt 22

(a) IRES H FHA H1 He & 999 fwan S
A Th SHSIAE I

(b) TS 1 Teh S ER

(c) U T =2

(d) “FEferal & faars Fnfeq ST @rm 1
T e

HIcAEeH T o G | Frefafed sl ) fa=m

Hifer:

1. I€ HHlesh 3R BT H1 A I 2

2. I8 Hieare &1 J9 © A s@H e e
RIEREEHRERIBS G

3. W 9§ Tfedl fR & W Hew a1 ug
@R T H 2

ST wedl § 9 HA-E/A " 2R

(a) e 1 3R 2 (b) Hae 2

(c) o | 3R 3 (@ 1,2 3R 3

Sl & Hed o f=fafad sl | faur

EAISPR

1. =% e 3@ ¥ wofde g3 & &9 ° 995
T SRR & Sfel &1 ITANT T qAq
AT 2

2. THTER YUid: SfeR STHTRG sTefeeen aren
3 B

IfE wUAl W 9 SE-FUA T 22

(a) ®aa 1 (b) ®ad 2

(¢) 1 22 =F (d) Fd 1 SRAE 2

ffafed wal W foer Fifsa:

1. IRy ¥ 9Rdrg gfagfa o) fafmg o (Fe)
Th R-FuieR e o

2. Get o1 w gfagfaat § feemet & e
T HE R

3. Wl % U ol v €, s e Jmet
o Ieu EeEl % 9" B 2

STH § @ fohae wer wEl ©2

(a) HIA TH (b) HaaA I

(c) |t @4 (d) & o 7T

FOm gigua | afvew ariied et awem

% ged o fmfafed worl ® foem w3

1. SO TS HaX i 1eAeral | Il |
o T

2. 39 9o | fequnahl & de Al WeEH T§
Afdehal W dTadld @1 A fohar T

61.

62.

63.

64.

65.

Which of the following statements is correct about
Salwa Judum?
(a) Atribal dance performed at the time of harvest
in Jharkhand
(b) A tribal festival of Nagaland
(c) An astronomical phenomenon
(d) A group of tribal people organized against the
Naxalites
Consider the following statements with reference
to Kolattam dance:
1. Itis a folk dance of Karnataka and Kerala.
2. Itisawomen's dance and men are not included
in it.
3. In this dance, the dancers dance with pots or
pitchers above their heads.
Which of the above statement(s) is/are correct?
(a) 1and?2 only (b) 2 only
(c) 1and3 only (d) 1,2and 3
Consider the following statements in the context
of dollarization:
1. Ttis the use and adoption of the United States
dollar as the primary currency in a country.
2. Ecuador is a country with a completely dollar
based economy.
Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements:
1. Initially the Securities and Exchange Board
of India (SEBI) was a non-statutory body.
2. The function of SEBI is to protect the interests
of investors in securities.
3. SEBI has the same powers as the High Courts
in civil matters.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements with reference
to the Global Partnership Summit on Artificial
Intelligence:
1. It was organized in Doha under the
chairmanship of Qatar.
2. The conference called for dialogue on Al
governance and ethics among stakeholders.
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66.

67.

68.

IwfE w9 9 SE-FUA TE 22

(a) ®aA 1 (b) ®ad 2

(c) 1 3R 2 < (d) T 1 A2

frefafad ol ) foar s

®mI-1: WA ¥ wifq fafa= oqet & fad am

foren &1 Ugw, orEmn SR qrlt § wrerd s

Y A e w1 guiferd Y Gl 2

FHIA-11: S A | g T R e

i % B B T ¥ SR, Sefed o fe

1 WA BT Tl €, fed s ford difenar

T YoA T & 9R | GiEH & STa difid

B "hd 2

Sw weAl % WX W, fefatad § 9 wE-w

T TE 7?2

(a) HUA-1 3R HeHA-11 <A F&l & qe HeA-11,

FHUA-1 1 T @ 2

HUA-1 IR HUA-11 Al Tl € qe HUA-11,

HUA-1 HI & AR T 2

(c) FH¥E-1 TE & 3R HeA-11 Terd 2l

(d) HA-1 Teld @ 3R FHeE-11 Tl 2

I=a foren ¥ giew e & THied | S Rae

U gafyg fefafad som ) faer sifee:

1. a9 2019-20 ® AHifeha BT &1 T&A 21
@@ o, St mest W 2020-21 H 19.21
G g )

2. Hfeem BE ®1 MG yfawd 3= Wefis
(FeT 6-8) | 14.42% W IR 3=a WAt
(Fem 11-12) W 10.76% @ 741 B

3. 3y SR ufvem amer H gfeem sl a6
I=9 QIS L T &1 T 2

ST FoA 9 HHA-TUA TE B2

(a) Foe | 3 2 (b) T 2

(c) Fae | 3R 3 d 1,2 33

frafafed wol W foem #ifs3:

HAT-1: AT HHST i LI 13 Iarest
H YoM W8 5R Tk B W IAMIEd 19 &
®Y H H1 TE o

HIT-II: I8 9osa 1681 3R 178 vt |
TR, TR SR TR % foenel &5 § et T
o

SuH weHl & SR W, frefafad § @ wE-m
T HE 22

(b)

66.

67.

68.

Which of the above statement(s) is/are correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Consider the following statements:

Statement-I: Caste can affect sex education in

India by creating barriers to access, quality and

content of sex education for different groups.

Statement-II: Some studies have found that lower

caste students face discrimination, harassment, and

violence in schools, which may limit their
opportunities to learn about sexuality and
reproductive health.

Regarding the above statements, which one of the

following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II is the correct explanation of
Statement-1.

(b) Both Statement-I and Statement-II are correct
and Statement-1I is not the correct explanation
of Statement-I.

(c) Statement-I is correct and Statement-II is

incorrect.

(d) Statement-I is incorrect and Statement-II is

correct.

Consider the following statements regarding the

report released on enrollment of Muslim students

in higher education:

1. The number of students enrolled in the year
2019-20 was 21 lakh, which decreased to
19.21 lakh in the year 2020-21.

2. The enrollment percentage of Muslim students
has dropped from 14.42% in upper primary
(classes 6-8) to 10.76% in higher secondary
(classes 11-12).

3. Assam and West Bengal have recorded higher
dropout rates of Muslim students.

Which of the above statement(s) is/are correct?

(a) 1and?2only (b) 2 only

(¢) 1and 3 only (d) 1,2and 3

Consider the following statements:

Statement-I: The Ottoman Empire was founded

as a small Anatolian state by Suleiman Shah in the

13th century.

Statement-II: This empire spread over vast areas

of Europe, Asia and Africa in the 16th and 17th

centuries.

Regarding the above statements, which one of the

following is correct?
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69.

70.

71.

72.

(a) -1 3R HeF-11 I TEl € a1 weF-11,

FHUA-1 &1 T e 2l

HUA-1 IR HUA-11 <A1 Tl € e HeA-11,

FHUA-1 &1 TEl oaen e el

(c) ®eF-1 el & IR HeA-11 T 2

(d) HEE-1 Tord & 3R weA-11 Wl 2

fa= <ifafer & aR o fefafad § 9 SE-

FHU T 2?2

(a) TH g srefemsh

(b) T foreg Al

(c) —Iefieie &1 T efgardt Tstar

(d) Swd H @ wE HE

Faen 49 g & wed o Frefafed wel W

foam wife:

1. 30 YT 1 AESH U B AIE & g9
o ST 21

2. T B H SE H THH Yl AR SRS
e T

(b)

ST HeA W W HHA-GA FE B2
(a) e 1 (b) Hae 2
(c) 1 3R 2 g (d) Td 1 A2

ARATT AIEAT & IR TIGRTR & aR | Fefafeaa

FeAl W fo=R Fifee:

1. WRdE agEa adaE o 75 fucew dE-7
TE 11 THHR FH I $ed F ISH
wirero & o et 2

2. A foum Wy, srdeed i SN stfirem
fermrad e €

UG el W W wA-G/H T 22
(a) *ad 1 (b) e 2
(¢) 1 @ 2 =H (d Fa 1 RTE2

INS dTelt & @3d o, frefafed werl

foem wifsa:

1. % 9ugl s e § AN i Saret
feme oo THgsl 2

2. THH TH ALET TYE F TH B Y U
AR % AW W @ T R

3. 30 99 2006 H 9RA I Welke TRE &1
I I ITER H 3 ez mo em

69.

70.

71.

72.

(a) Both Statement-I and Statement-II are correct
and Statement-II is the correct explanation of
Statement-I.

(b) Both Statement-I and Statement-II are correct

and Statement-II is not the correct explanation

of Statement-I.

(c) Statement-I is correct and Statement-II is

incorrect.
(d) Statement-I is incorrect and Statement-II is
correct.
Which of the following statements is correct about
Pinna Nobilis?
(a) A famous Economist
(b) An endangered Mussel
(c) A Tribal Politician of New Zealand
(d) None of the above
Consider the following statements with reference
to Kambala buffalo race:

1. This race is organized at the time of
transplantation of paddy.

2. Recently it was organized for the first time in
Bangalore.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
Consider the following statements regarding trainer
aircraft of the Indian Air Force:

1. The Indian Air Force currently uses 75 Pilatus
PC-7 Mk 1II aircraft for flight training of
cadets.

2. These aircraft are simpler, relatively slower
and more economical.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
With reference to INS Tarmugli, consider the
following statements:

1. It is a Trinket class submarine used in
maritime rescue operations.

2. It is named after Tarmugali, a small island in
the Lakshadweep group.

3. It was gifted to India's Maldives National
Defense Force in 2006.

XS ¥ W fohe For W € How many of the above statements are correct?

(a) oA TH (b) e (a) Only one (b) Only two

(c) @t i (d) =« & (c) All three (d) None
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73.

74.

75.

76.

U9 oy foesd-2023 & Y HWHTOT
s frefafea o 9 foa <o & = fean
™Y

(a) A SR SFSEe

(b) WRA IR

(c) 9RG, FreRw R foaaam

(d) 9Rd R faga™

gha T qemrt Mfeem 9fEs T & wed o

freafafed ol ) faar s

1. 39 9 1 ad 2018 § & fwar @
ol

2. ¥ UfEisH fave d% &1 Wemdr 9 el
S R

3. 39 U o 91y 9gu iR e & e
FI HH HH b o1l TommT & fFR e
fohd ST 1 g foRen e R

STdE weAl § W wE-9 T 7?2

(a) e 1 3R 2 (b) et 2 ¥R 3

(c) eel 1 3R 3 (d 1,2 3R 3

IR ® d5UMel & Waud § Hafya frefated

FeAl W =R Fifee:

l. 9@ & Y@ Fa0TR H§ R & ©iY
wemats frEsor § ¥ qen ww g &
fawa €l

2. Y@ SRR & ST 37 S<UMe T Gt
% fawa €

3. | AR deUTel g YeHd el A
T T 55% 7 de0mel g fafaa feran

SIS
StdE | 9 fohan we wet #72
(a) HIA Th (b) e
(c) |t @ (d) ®E off T

frfafea wul | fa=ar .

1. JUFEST USTIR g9 FEPHE & ded 80%
Y offush ShTEAT THOT SRl B Tefad i
St €1

2. Hftea wrdtgde o1 3299 O e st
% o Tl wiade gifed 3 ot sem
NIRRT STeREsharstl sl qU & aren
et ShIfaEA TR T 21

ST FoA H§ 9 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(¢) 1 2 2 =F (d Fa 1 dARTE2

73.

74.

75.

76.

The fourth edition of military exercise
VINBAX-2023 was organized between which of
the following countries?

(a) India and Venezuela

(b) India and Brunei

(c) India, Bangladesh and Vietnam

(d) India and Vietnam

Consider the following statements with reference
to the Green National Highway Corridor Project:

1. This project was started in the year 2018.

2. This project is being run with the assistance
of the World Bank.

3. In this project, a provision has been made to
plant trees along the highways to reduce the
impact of air pollution and dust.

Which of the above statements are correct?

(a) 1and?2only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and 3
Consider the following statements regarding
management of ports in India:

1. The major ports of India are under the
direct administrative control of the Central
Government and are subjects in the Union
List.

2. Ports other than major ports are subjects of
the State List.

3. About 55% of the total traffic handled by all
Indian ports is handled by other ports.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three
Consider the following statements:

1. Under the Prime Minister's Employment
Generation Programme, more than 80% of
the units are set up in rural areas.

2. Captive Employment aims to create a skill
ecosystem that meets the needs of industry
partners ensuring permanent placement for
rural poor youth.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and?2
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77. He TAEfET & Hed § frefatad § @ siA-y
T e wE B2
1. 39 WA & SR i 29 vt oIk g
I yfeman ® siel iR Sfal 1 Bel Yeld gU
T & W ST el HIl 2
2. FF-gd H Jugu &1 Iufeerfd @l werd
Tt WHfa @t Afyeafd & €9 | @

S @1

he:

(a) Had 1 (b) HaA 2

(c) 1 @R 2 g (d) Fd 1 SRAE2

78. Frafafaa <o | fo=m wifsa:

1. =+ 2. difepEa

3. e 4. @A

ST ¥ ¥ fha 3w fewers 3 e & 99w 72

(a) HIA TH (b) FaaA I

(c) Had T (d) 9t =R

79. ARG Hfgu™ % Agess 370 % wed #

frafafed wol W foer #ifsa:

1. S=IqH <IEEE A 38 GiaUm 1 Tl weeeE
el ol

2. 3U ITTeS] 368 H ded GiHH WA &
B BT TR

ST Fo H § HA-TUA TE B2

(a) Faa 1

(b) Fad 2

(¢) 1 3R 2 <H

(d) T 1 A2

80. SR 3R ST Tiiierar ¥ Heifua Freferfe

HoAl W fo=m wifsE:

1. SUfq STeTRd STR&U YoTetl ohi gRehedel
Hegew faferm g2t iR wfwe ®e g
HT TE e

2. AU STREIV YOIt 99 1933 & YR
sfufof 1 A srEle & RvmIEEY
e o 3T B

3. A Hfgu™ H Haa SC iR ST & &
AR Y& fehan = e

77. Which of the following statement(s) is/are correct
regarding salami slicing?

1. Through this strategy, a country captures
new areas by playing the game of divide and
conquer through threats and compromises.

2. The USA's presence in the Middle East is seen
as an expression of the salami slicing strategy.

Code:
(a) 1only
(c) Both1and2

(b) 2 only
(d) Neither 1 nor 2
78. Consider the following countries:

1. China 2. Pakistan

3. Bhutan 4. Nepal

How many of the above mentioned countries are
members of the Himalayan Quad?

(b) Only two

(d) All four

(a) Only one
(c) Only three

79. Consider the following statements with reference
to Article 370 of the Indian Constitution:

1. The Supreme Court had called it a permanent
provision of the Constitution.

2. It was removed by constitutional amendment
under Article 368.

Which of the above statement(s) is/are correct?
(a) 1only
(b) 2 only
(c) Both 1 and?2
(d) Neither 1 nor 2

80. Consider the following statements related to
Reservation and Caste Mobility:

1. The caste based reservation system was
first conceptualized by William Hunter and
Jyotirao Phule.

2. The present reservation system came into
existence as a result of the Communal Award
or Communal Award of the year 1933.

3. Reservation was provided only to SC and ST

in the original Constitution.

ST wo H W HH-4 g &2 Which of the above statements are correct?
(a) el 1 3R 2 (b) wae 2 3R 3 (a) 1and?2 only (b) 2 and 3 only
(c) o 1 3R 3 (d 1,2 33 (¢) 1and3 only (d) 1,2 and3
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82.

&3.

84.

85.

AU & SFRIHO & G § FAfared womf

T foEr Sifsa:

1. Tl i oM BRER & ¥4 § T
FH I Tl Y9 TRA Hl SfeR T T
frefcar &0 w6 & o ufa = @ 2l

2. TY AR AR HWH dd  SFFdrat
AR Al & ford oF-3F @ % el
bl B

3. I8 NG e & fo Sifem ¥ gfg
Exuil

ST Fo H§ 9 HHA-UA TE B2

(a) wae 1 3R 2 (b) Fa 2

(c) Weel 1 3R 3 (@ 1,2 3R 3

STay giEd USYH gEdhih 2024 % dsd H

frAfafea wol | faar wifa:

. 9Ra 4 74 TF 9w T 2

2. fomgt off <o = wmw afored & sga et wee
Tl e B, ord: wom < TUH @l

ITE wodl § 9 HA-E/A T 22

(a) ®aa 1 (b) ®ad 2

(c) 1 3R 2 g (d) Td 1 A2

Tk e Hi dfves feofa Rl ffatea o

Y formes g S 1 S @72

(a) AL Teah IREgd Fed

(b) fowa =R Hwe

(c) Tawa wErees Hiaq

(d) wgF U fas wriwH

Yerdd e & aR o frefafed o 9 sE-w

EREI I )

(a) T8 T it & ol iR fedeht g
FHA ® Ieee HI S w2

(b) TE & WACE & ITefi HE e B

(c) T8 Th HawurTs 6 2|

(d) ST (b) 3R (c)

AT |&d 9 (0IC) ¥ Hafya ffafea

FeAl W fo=R Fifee:

1. 3HH TS T3¥ 3RG i Yol g o o
1978 o fawan o em

2. 9 U G & 91K I8 A I SHU HIH
g HTeA 2

3. O T i QrHTiSIeh - 3Tfee i & fo

81.

82.

83.

84.

85.

Consider the following statements with reference
to internationalization of Rupee:

1. The increasing trend of using the dollar as
an economic weapon is motivating India to
reduce its dependence on the Dollar.

2. This can reduce transaction costs for
businesses and individuals doing international
trade.

3. This will increase risks for Indian businesses.
Which of the above statement(s) is/are correct?
(a) 1and?2only (b) 2 only
(¢) 1and 3 only (d) 1,2and 3
Consider the following statements with reference
to Climate Change Performance Index 2024:

1. India has got 7th position.

2. Neither country performed very well in the
overall categories, so the first two places are
vacant.

Which of the above statement(s) is/are correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

The Global Status of Road Safety Report is

released by which of the following?

(a) International Road Transport Organization

(b) World Trade Organization

(¢) World Health Organization

(d) United Nations Development Program

Which of the following statements is not correct

about the Enforcement Directorate?

(a) It investigates money laundering crimes and
violations of foreign exchange laws.

(b) It functions under the Ministry of Home

Affairs.

(¢) Itis a constitutional body.

(d) Both (b) and (c) above

Consider the following statements regarding

Organization of Islamic Cooperation (OIC):

1. It was formed in the year 1978 in Riyadh, the
capital of Saudi Arabia.

2. It is the second largest organization in the
world after the United Nations.

3. Its main objective is to cooperate for the socio-

Ted AT THH e 32T B economic progress of the member states.
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86.

S § 9 fohad e e €72

(a) Hod TH (b) waA |
(c) |t = (d) =18 o T
frefafad T W foam Fifm:

(9RA & ool 0 @ WE)  (Hatua W)

87.

88.

&9.

1. e

2. Howe TR ford

3. STEEn WgT S=reia
STIRTY - g

Swdm # 9 fohad g weEl gafer ©2

(a) e Th (b) e

(c) |l I (d) =g +f T

-HegErg 99 wiRfedfast 9 @ wafud

frAfafea wo | faar wifa:

1. Heg e § wergrdl % el W H ¥ o
T S

2. TE 9EM 6 A o1 9 90 o FEd 2

3. I, S, e oK 39 & & ygE ge €

Srde | 9§ o we wet #72

- IS
- T YW

(a) HIA TH (b) waA I
(c) @t = (d) 1 o &
frefafea weml W foar SifsE:

HIAA-1: THHUR o7 &= 1 foeam aeft a7 &1

o walfeer & 9o A o MRfch g9 W Had

WY AT § e S

HIA-TI: 37 ol 1 S fafaua iR aifefient

IqEHAl o WA § Hed wH g

S o A, Freftes § 9 @

Th TE B2

(a) HUA-1 3R HeHA-11 <A F&l & qe HeA-11,

HUA-1 ®1 T A 2

HeA-1 AR weF-11 <A e & e w11,

HUA-1 HI & AR T

(c) HeF-1 &t & 3R HeF-11 Tord 7

(d) HHA-1 Tord § IR HeA-11 TE 2

frAfafea wol | faar wifa:

1. 39 YR & o7 ST-gal e, Zfeqoft foaedt
anfe e o u S 2

2. oeFE, HUd, ¥, WEAE A T oo &
@ g8 2l

3. T U v W g @ A # e
g Wt 2l

(b)

86.

87.

88.

9.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following pairs:

(Popular places in India) (Concerned state)
1. Gevra - Jharkhand
2. Melghat Tiger - Madhya Pradesh
Reserve
3. Asola Bhatti - Haryana
Wildlife Sanctuary

How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements regarding the
Mediterranean Forest Ecosystem:
1. These forests are found in the eastern parts of
the continents in mid-latitudes.
2. This Biome is also called oak forest or
Chaparral.
3. Cork, olive, pine etc. are the main trees of this

area.
How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements:

Statement-I: Coniferous forest areas have the
largest extent among all the forest areas and these
forests are found only in the continent of Europe
on the Arctic Circle.

Statement-II: The Biodiversity and ecological
productivity of these forests are the lowest among
forest Ecosystems.

Regarding the above statements, which one of the
following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-I1 is the correct explanation of
Statement-I.

Both Statement-I and Statement-II are correct
and Statement-II is not the correct explanation
of Statement-I.

(b)

(c) Statement-I is correct and Statement-II is
wrong.
(d) Statement-I is wrong and Statement-II is
correct.
Consider the following statements:
1. This type of forests are found in areas like
North-Eastern America, Southern Chile etc.
2. Walnut, Maple, Ash, Chestnut etc. are the
main trees of these forests.
3. Their leaves fall off in winter to protect
themselves from the cold.
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90.

91.

92.

93.

Swe oAt ffafed & 9 fvd ywR & oA

ifeerfaert @1 | Hafua 272

(a) WA AR qUATCd o

(b) A AT HEEER a1

(c) it wfcaeia qage a3

(d) &M oA

e & He o, frefafad sl W e sifvd:

1. T I g SIS wieadtE &5 % de,
SANARHE!, SR i oA Td Ueh SIS
o forerfa g 2

2. SfferdisH 1w © Fes & ford Huie qef
¥ oTqheH ufadl wE S §)

ITE wedl § 9 HA-A/A TE 2R

(a) ®ad 1

(b) Had 2

(c) 1 &R 2 g

(d) T 1 RTE 2

et ferfereran stfaema & weed |, Feferiad wemi

R foeEr Hifsa:

1. 38 99 1992 ® f& € sHfen o efea
Yool TRIEH W A ATiiehd femen T e

2. IE gl A ofvesh Hugial 8, e Se
fafayar 9 Hafua a+dt Teqei w1 mia fean
T |

3. 9% GHEl A €9 Y aESE T

IfE wUAl W 9 SE-FUA T 22

(a) el 1 3R 2 (b) eet 2

(c) eel 1 3R 3 (d 1,2 33

S YgHUl T Seld WRfEAfaR! 99 W g

J9E ¥ gafyd FeAfafad woel ) foer it

1. fufsm sa & wro wesfas § gred
THeh T B B

2. eltg qiids | quo, S e onfE fwen
o B S B

3. Yol oS &1 se | % BN e 2l

ST For H 9 HHA-TUA TE B2

(a) e 1 3R 2

(b) a2 3R 3

(c) Haa 3

d 1,2 3R 3

T Gkl % o) o fefeied § @ siA-w

TH HUA FEl T 82

(a) 3H 29 TR 2010 HI SAH & AFET H

90.

91.

92.

93.

The above mentioned characteristics are related to
which of the following types of forest ecosystem?
(a) Mid-latitude deciduous forests

(b) Mid-latitude evergreen forest

(c) Temperate deciduous forest

(d) Taiga forest

With reference to mangroves, consider the
following statements:

1. Mangroves grow on the coasts, estuaries, tidal
creek lagoons and mud deposits of tropical
and sub-tropical regions.

2. Adaptation leaves are found in mangrove
plants to cope with the lack of oxygen.

Which of the above statement(s) is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to the Convention on Biological
Diversity, consider the following statements:

1. It was adopted during the Earth Summit held
in Rio de Janeiro in 1992.

2. This is the first comprehensive global
agreement, which covered all aspects related
to Biodiversity.

3. This agreement is legally binding.

Which of the above statement(s) is/are correct?
(a) 1and?2 only (b) 2 only

(c) 1and3 only (d) 1,2and 3
Consider the following statements regarding the
effects of water pollution on Aquatic Ecosystems:

1. Due to mercury mixed water, a disease called
dropsy occurs in fishes.

2. In Aquatic Ecosystem, processes like
Eutrophication, Bio-Magnification etc. get
accelerated.

3. The incidence of coral bleaching begins to
decline.

Which of the above statement(s) is/are correct?
(a) 1and?2 only

(b) 2 and 3 only

(c) 3only

(d) 1,2and3

Which one of the following statements is not
correct about the Nagoya Protocol?

(a) It was adopted in Nagoya, Japan on 29

ST T 01 October 2010.
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(b) AR FEEA ¥ BH a6l a1 & e
AR =it ale | G S
(c) TH Wishicl 1 G&A 32T MYfTeh Trifireht
% IRuTHEEY Fsita uiafdd sial 1 gt
SAROT, FEER T SYAN GHATET w2
(d) 9N 39 ieisicl 1 g&erdal 9 e 2
94. safia fafeor & ded o, f=fafed wod |
IEEESCAISRR
1. o9 wa foeor, o foeor, shifers foheo

T vt €
2. 3 FoRYol orgq Ak qREMee © 9o 9gd 9§
FAdh] B THIE 1 HRO B 2
ITE woAl § 9 HA-T/A TE 22
(a) ®ad 1 (b) ®ad 2
(c) 1 &R 2 g (d) Fd 1 SRAE 2
95. frefafad gl w fomar wifsa:
(hIT T ) (TS WA )
1. ®M9-25 - 9fg
2. HA-26 - T
3. hi9-27 - HTRA
Swfm A 9 fohad g ol e ©2
(a) Had Th (b) HaA A
(c) |t = (d) =18 o T

96. WIS Telthe & d8d WRA 1 dJean el fsrd
ffafed 9 9 fog T2 o R T@?
(a) sfifesm (b) FRTES
(c) HAEH (d) =
97. TR-hT fafeteEl Jshumm stfufEE (UAPA) &
Hed o frafafed wol w fa=emr #wifsa:
1. 38 a9 1967 ¥ ®ad HYHR H STdha!
nfafafial @ foed & foa sifufrafaa fea
T e
2. T AU R % STUR THd ded <ol
T 50% HEll ¥ ARY UA HH-Y-FHY
T T8 9% SRR R T
3. THF dEd HHS T9 hE SR GHSHAT Tl
%1 AR Heael NIA 3R CBI &l 21

ST A 9 fhad wer wedt &2

(b) To share the benefits of genetic resources in
a fair and equitable manner.

(¢) The main objective of this protocol is to ensure
the safe transfer, handling and use of living
modified organisms as a result of modern
technology.

(d) India is not a signatory country to this
protocol.

94. With reference to ionizing radiation, consider the
following statements:
1. This includes X rays, Gamma rays, Cosmic
rays etc.
2. These rays are very harmful and cause
destruction of many tissues.

Which of the above statement(s) is/are correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

95. Consider the following pairs:

(Cop conference) (venue)
1. Cop-25 - Paris
2. Cop-26 - Glasgow
3. Cop-27 - Cancun
How many of the above pairs are correctly
matched?

(a) Only one
(c) All three

96. India's first Elephant Reserve under Project

(b) Only two

(d) none

Elephant was created in which of the following
states?

(a) Odisha
(c) Karnataka

(b) Jharkhand

(d) Kerala

97. Consider the following statements with reference
to Unlawful Activities Prevention Act (UAPA):

1. It was enacted in the year 1967 only to deal
with terrorist activities in Kashmir.

2. According to the National Crime Bureau, in
about 50% of the cases registered under it,
charge sheets were filed after at least a year.

3. Under this, Only NIA and CBI have the right

to register and prosecute cases.

How many of the above statements are correct?

(a) HaA TH (b) Ha (a) Only one (b) Only two
(c) |t 94 (d) o T (c) All three (d) None
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98.

99.

100.

I k1 o fafaera & daed & wifqeee dufam,
gio, Teptar wdie, wiiftrer qen el & ©2
(a) Taft (b) TR

(c) WrEHe (d) =gy

frefafad wRel W fo=R ifs:

1. 9] S HIA

2. ST w= 9 STudTE

3. W TRl H AT

4. TR IEA

SUge § | HIA-T A9 U0 GG HH &7
(a) e 1 3R 2 (b) e 2 3R 3
(c) ®ad 1,2 R 3 (d) 1,2,3 34

fea Ve A wie U 2021 & ST{ER
e § @ SF-91 SeR o T T TEl
RIS HH 22

(a) ToSIRH, STev=el W91, Welerd, AelS
(b) eTEUTE TR, THein, ArTels, Heer
(c) oo, THeiiH, /o= WR¥l, s
(d) eTEvTEe YREl, Wellerd, THsiNd, Ameis

98.

99.

100.

What are Sociable Leapwings, Hawks, Nicobar
Megapodes, Janghil and Peepowl in the context of
Biodiversity of India?
(a) Bird

(c) Primates

(b) Amphibians
(d) Reptile
Consider the following factors:

1. Nuclear power plants

2. Industrial waste and runoff

3. Deforestation in coastal areas

4. Soil Erosion
Which of the above are the main factors of Heat
Pollution?
(a) 1and?2 only (b) 2 and 3 only
(¢) 1,2 and 3 only (d) 1,2,3and 4
According to the India State of Forest Report 2021,
which of the following is the correct descending
order of forest cover states?

(a) Mizoram, Arunachal Pradesh, Meghalaya,
Nagaland

(b) Arunachal Pradesh, Mizoram, Nagaland,
Meghalaya

(c) Meghalaya, Mizoram, Arunachal Pradesh,
Nagaland

(d) Arunachal Pradesh, Meghalaya, Mizoram,

Nagaland
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